1.

RHTFAL EHE

ROFERET L. (S22, A3, BFk4as®, C#14y)

(1)

(3)

(5)

(7)

(9)

18 x5+12x%x5

4x7—4x%x5H

13 x 25 -3 x 25

15x5—-15x3

52 x 12 —49 x 12

waeEal o1

(2)

(4)

(6)

(8)

(10)

11x3-9x%x3

17x4—-17x3

4x31+4x19

13x3—-4x3

25 x 1425 %3
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2.

(1)

(3)

(5)

(7)

(9)

ROFERET L. (S22, A3, BFk4as#, C#14y)

14 x5+16 x5

14x6—-14 x5

23 X 25 —3x25

15 x7—15x%x3

H2 x 12 —47 x 12

(2)

(4)

(6)

(8)

(10)

MUx7T-9%x7

17x5—-17x%x 3

4x33+4x17

11x6—-2x%x6

20 x3+25x1
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RHTFAL EHE

faaskil 01

ROFEEZE L. (ST, A3, Bi4as®, C#14y)

(1) 18x5+12x5
= (18 + 12) x 5 = 150
(3) 4x7—-4x5
=4x(7T-5)=8
(5) 13 x25-3x25
= (13 — 3) x 25 = 250
(7) 15x5—15x%x3
=15%x (5—3) =30
(9)  52x12—49 x 12

= (52— 49) x 12 = 36
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(2) 11x3-9x3
=(11-9)x3=6
(4) 17x4—-17x3
—17x (4—=3)=17
(6) 4x31+4x19
=4 x (31 +19) = 200
(8) 13x3—-4x3
= (13—4)x3=27
(10) 25 x14+25x3

— 25 x (1+3) = 100
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2.

ROFERET L. (S22, A3, BFk4as#, C#14y)

(1) 14x5+16x%x5

= (144 16) x 5 = 150

(3) 14x6-14%x5

—14x (6—5) =14

(5) 23 x25-—3x25

= (23— 3) x 25 = 500

(7) 15x7—15x%x3

=15 % (7—3) =60

(9)  52x12—47x12

= (52— 47) x 12 = 60

(2) 14x7-9x7

—(14-9)x7=35

(4) 17x5—-17x3

=17x (5—3) =34

(6) 4x33+4x17

— 4 x (334 17) = 200

(8) 11x6-2x6

= (11-2) x 6 = 54

(10) 25 x3+25x1

=25 x (3+1) = 100
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